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lve the following systems using substitution method.
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&nmuhity bake sale, you purchases 12 pounds of sugar and 15 pounds of flour. Your total cost was $9.30.
xt day, you purchased 4 pounds of sugar and 10 pounds of flour. Your total cost the second day was $4.60. Find
a pound of sugar and a pound of flour.
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g'u'c_kets for $645. Plan B includes hotel accommodations for 5-nights and 4-pairs of baseball tickets fé?;
wuch does a single hotel cost and how much does a single pair of baseball tickets cost?
: Write the System: -7 (3 Solve: )
e~ i) N+ 2plHY) Tbin-Y4< =17
%nrap LY 5n+Up=[135  6n HHp* 113§
bh*qp:!gs - = .'
3(154)+2p= b5 S5 |
465+ 2p_=UYS
Dpalits. .

s e}

Answer:
qo

o1 U





image4.png
8. 2x+y=9 X+\{=q
2% -3y - S Aukion 1 (xw;yj\ﬂ) “Ax+fy = O
i = <q

/kz ] \\) Solutiovy (%/' g

(1,0 @

104(3x— 3y = -15) ux-z/
3(-ax+2y=4) “|2x% y

R





image5.png
B8 S A T

. 2p “ldo
‘,‘,2) the solution to this system of equations? / P S Go i
2x — 3y =0 ; ———————
2eyzs 203)-3(2)z0 2(3)+2=¢
g e

) = 27/\
; (nx+¥—)2 ¥




